

Mental disorders and vulnerability to homicidal death: Swedish nationwide cohort study

Crump, Casey; Sundquist, Kristina; Winkleby, Marilyn A.; Sundquist, Jan

Published in:

BMJ: British Medical Journal

DOI:

10.1136/bmj.f557

2013

Link to publication

Citation for published version (APA):

Crump, C., Sundquist, K., Winkleby, M. A., & Sundquist, J. (2013). Mental disorders and vulnerability to homicidal death: Swedish nationwide cohort study. BMJ: British Medical Journal, 346, f557. https://doi.org/10.1136/bmj.f557

Total number of authors:

General rights

Unless other specific re-use rights are stated the following general rights apply: Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights

- Users may download and print one copy of any publication from the public portal for the purpose of private study
- You may not further distribute the material or use it for any profit-making activity or commercial gain
 You may freely distribute the URL identifying the publication in the public portal

Read more about Creative commons licenses: https://creativecommons.org/licenses/

If you believe that this document breaches copyright please contact us providing details, and we will remove access to the work immediately and investigate your claim.

Download date: 09. Dec. 2025

BMJ 2013;346:f557 doi: 10.1136/bmj.f557 (Published 5 March 2013)

RESEARCH

Mental disorders and vulnerability to homicidal death: Swedish nationwide cohort study

© 0 © OPEN ACCESS

Casey Crump *clinical assistant professor*¹, Kristina Sundquist *professor*², Marilyn A Winkleby *professor*³, Jan Sundquist *professor and director*²

¹Department of Medicine, Stanford University, 211 Quarry Road, Suite 405, MC 5985, Palo Alto, CA 94304-1426, USA; ²Center for Primary Health Care Research, Lund University, Skåne University Hospital, Malmö, Sweden; ³Stanford Prevention Research Center, Stanford University, Stanford, CA 94305-5411, USA

Abstract

Objective To determine the risk of people with mental disorders being victims of homicide.

Design National cohort study.

Setting Sweden.

Participants Entire adult population (n=7 253 516).

Main outcome measures Homicidal death during eight years of follow-up (2001-08); hazard ratios for the association between mental disorders and homicidal death, with adjustment for sociodemographic confounders; potential modifying effect of comorbid substance use.

Results 615 homicidal deaths occurred in 54.4 million person years of follow-up. Mortality rates due to homicide (per 100 000 person years) were 2.8 among people with mental disorders compared with 1.1 in the general population. After adjustment for sociodemographic confounders, any mental disorder was associated with a 4.9-fold (95% confidence interval 4.0 to 6.0) risk of homicidal death, relative to people without mental disorders. Strong associations were found irrespective of age, sex, or other sociodemographic characteristics. Although the risk of homicidal death was highest among people with substance use disorders (approximately ninefold), the risk was also increased among those with personality disorders (3.2-fold), depression (2.6-fold), anxiety disorders (2.2-fold), or schizophrenia (1.8-fold) and did not seem to be explained by comorbid substance use. Sociodemographic risk factors included male sex, being unmarried, and low socioeconomic status.

Conclusions In this large cohort study, people with mental disorders, including those with substance use disorders, personality disorders, depression, anxiety disorders, or schizophrenia, had greatly increased risks of homicidal death. Interventions to reduce violent death among people with mental disorders should tackle victimisation and homicidal death in addition to suicide and accidents, which share common risk factors.

Introduction

Mental disorders are well established risk factors for suicide and accidental death, 1-5 but little is known about their association with homicidal death. The perpetration of homicide and other violence by people with mental disorders has been extensively studied for decades. 6-13 However, the risk of such people being victims of homicide has seldom been examined. People with mental disorders may be at increased risk of homicidal death for several reasons, including a high prevalence of comorbid substance use, which is associated with violence. Irrespective of substance use, they also are more likely to live in high deprivation areas,14 which have higher homicide rates, be in closer contact with other mentally ill people, be less aware of their safety needs, 15 or potentially be victimised because of perceptions that they are dangerous or vulnerable. 16-18 More effective prevention of violent death among people with mental illness requires a better understanding of the risks of homicidal death in addition to suicide and accidents, which are more widely studied.

The few previous studies on this topic have reported that people with any mental disorder have a twofold to sixfold risk of homicidal death relative to the general population. 19-22 These studies have had important limitations, including inadequate control for confounding, 19-22 insufficient sample sizes for the examination of specific mental disorders, 20-22 or the inclusion of only psychiatric patients admitted to hospital, 19 who have more severe illness and do not adequately represent mental disorders in the general population. We overcame these limitations by using outpatient and inpatient data for the entire adult population of Sweden (approximately 7.2 million). We ascertained potential sociodemographic confounders by using national census data and mental disorders by using outpatient and inpatient diagnoses from all healthcare settings nationwide.

Correspondence to: C Crump kccrump@stanford.edu

Extra material supplied by the author (see http://www.bmj.com/content/346/bmj.f557?tab=related#webextra)

We used these data to examine the association between mental disorders or sociodemographic characteristics and homicidal death, while adjusting for confounders and exploring the potential modifying effect of comorbid substance use.

Methods

Study population and homicidal death ascertainment

We did a nationwide cohort study of all people aged 17 years or older who were living in Sweden on 1 January 2001 (n=7 253 516). The outcome of interest was death from homicide (codes X85-Y09 in ICD-10 (international classification of diseases, 10th revision); 615 total deaths) during eight years of follow-up (1 January 2001 to 31 December 2008). We identified these by using the Swedish death registry, which includes about 99.5% of all deaths nationwide. We excluded deaths of undetermined intent (ICD-10 codes Y10-Y34; 1497 total deaths) from this outcome.

Mental disorder ascertainment

We identified mental disorders by any primary or secondary diagnosis in the Swedish outpatient registry or the Swedish hospital registry from 1 January 2001 (when the outpatient registry was started) to 31 December 2008 (the maximum follow-up at the time of analysis). The Swedish outpatient registry contains all primary and secondary outpatient diagnoses nationwide since 2001, and the Swedish hospital registry contains all primary and secondary hospital discharge diagnoses with nationwide coverage since 1987. These registries are estimated to be more than 99% complete.²⁴ We classified mental disorders according to ICD-10 codes and examined them in the following categories: any mental disorder (F00-F69); substance use disorders (F10-F19); schizophrenia and schizotypal and delusional disorders (F20-F29), including schizophrenia (F20), which was examined separately; mood (affective) disorders (F30-F39), including bipolar disorder (F31) and depression (F32-F33), which were examined separately; neurotic, stress related, and somatoform disorders (F40-F48), including anxiety disorders (F40-F41), which were examined separately; and personality disorders (F60-F61).

Sociodemographic variables

We identified sociodemographic characteristics that may be associated with mental disorders and risk of homicidal death by using national census data from 2000-01 and linked them to the registry data by using an anonymous personal identification number.14 25 26 We examined the following as predictor and adjustment variables: sex (men or women); age (17-24, 25-34, 35-44, 45-54, 55-64, 65-74, ≥75 years at study entry); marital status (married/cohabiting, never married, divorced, widowed, or unknown); country of birth (Sweden, other Nordic countries (Denmark, Finland, Iceland, Norway), non-Nordic countries, or unknown); educational level (compulsory school or less (≤9 years), vocational high school or some college preparatory high school (10-11 years), college preparatory high school and/or college (≥12 years), or unknown); employment status (employed or non-employed; "non-employed" includes students and homemakers); income (categorical variable in quarters, or unknown); and urban/rural status (large cities, medium sized towns, small towns/rural, or unknown).

Statistical analysis

We used Cox proportional hazards regression to estimate hazard ratios and 95% confidence intervals for the association between mental disorders or sociodemographic characteristics and homicidal death during the follow-up period. We modelled each mental disorder for each person as a time dependent variable, so that a person contributed to "non-exposed" person time before and "exposed" person time after the earliest diagnosis of the respective disorder. We censored individuals (that is, treated them as no longer under observation or at risk of the study outcome) at the time of death from any cause other than homicide (n=834 395; 11.5%) or at the time of emigration as determined by the absence of a Swedish residential address in census data (n=219 571; 3.0%). We built sequential models to identify potential confounders that had the strongest effect on estimates of risk and identified the following variables: sex, age, marital status, country of birth, education, and employment status. After adjustment for these variables, income and urban/rural status had no effect on risk estimates and were subsequently excluded as adjustment variables. We used three different adjusted models: the first was adjusted for sex and age only; the second was adjusted for sex, age, and other sociodemographic characteristics (marital status, country of birth, education, and employment status); and the third was adjusted for the same variables after exclusion of people with any substance use disorder diagnosed during the study period (n=160 762; 2.2%). We evaluated the proportional hazards assumption by graphical assessment of log-log plots,²⁷ and it was met in each of the models.

In addition, we assessed for effect modification by sociodemographic factors by calculating hazard ratios and 95% confidence intervals for the association between any mental disorder and homicidal death after stratifying by these factors, and using a likelihood ratio test to formally test for interaction. We did a sensitivity analysis in which we calculated hazard ratios and 95% confidence intervals for the associations between mental disorders and either homicidal death or "death of undetermined intent" (ICD-10 codes Y10-Y34; 1497 total deaths) as a combined outcome. All statistical tests were two sided and used an α level of 0.05. We used Stata statistical software, version 11.2 for all analyses.

Results

In this population of 7 253 516 Swedish adults, 615 homicidal deaths (410 men and 205 women) occurred in 54.4 million person years of follow-up, including 141 homicidal deaths (104 men and 37 women) among people with mental disorders. Crude mortality rates due to homicide (per 100 000 person-years) were 1.1 in the entire population, 2.8 among people with mental disorders, and 0.9 among those without mental disorders.

Sociodemographic factors and homicidal death

Men had twice the risk of homicidal death relative to women, after adjustment for all other sociodemographic characteristics (table $1 \parallel$). We found no linear trend in the risk of homicidal death by age (P for trend=0.78). The risk of homicidal death was more than twofold higher among people who were divorced or never married relative to those who were married or cohabiting. Other independent risk factors included low education (P for trend<0.001), low income (P for trend<0.001), non-employment, and living in large cities relative to medium sized or small towns (table $1 \parallel$). Nordic and non-Nordic immigrants had an increased risk of homicidal death relative to

people born in Sweden before but not after adjustment for other sociodemographic characteristics.

Mental disorders and homicidal death

A total of 22.9% (n=141) of people who died from homicide were ever diagnosed as having a mental disorder during the study period, compared with 9.4% (n=680 596) of the general population. After adjustment for sex and age, any mental disorder was associated with more than a sevenfold risk of homicidal death (95% confidence interval 5.98 to 8.83), relative to people without mental disorders (table 21). The risk of homicidal death was strongest among those with substance use disorders (approximately 16-fold risk). Only two homicidal deaths occurred among people with bipolar disorder, which was insufficient for obtaining meaningful risk estimates. However, the risk of homicidal death was significantly elevated among people with all other mental disorders, including about sevenfold among those with personality disorders, about fivefold among those with schizophrenia, and more than threefold among those with depression or anxiety disorders (table 21). Further adjustment for other sociodemographic factors resulted in attenuation of all risk estimates, but they remained significantly elevated for most mental disorders, including a nearly fivefold risk among people with any mental disorder, an approximately ninefold risk among those with substance use disorders, an approximately threefold risk among those with personality disorders, and more than a twofold risk among those with depression or anxiety disorders (table 211). Schizophrenia was associated with a 1.8-fold risk of homicidal death, although this no longer reached statistical significance (95% confidence interval 0.85 to 3.86).

We explored the influence of substance use by repeating the fully adjusted model after excluding people with any outpatient or inpatient diagnosis of substance use disorders (n=160 762; 2.2%). A diagnosis of any mental disorder was associated with an approximately twofold risk of homicidal death among people who were never diagnosed as having substance use disorders (table $2 \parallel$). Risk estimates for the association between personality disorders or anxiety disorders and homicidal death were somewhat higher after this exclusion, and other risk estimates were only slightly affected. These findings suggest that the observed associations between mental disorders and homicidal death were not fully explained by comorbid substance use.

We also assessed whether the association between any mental disorder and homicidal death was modified by sociodemographic factors, by examining risk estimates stratified by these factors (table 3↓). After adjustment for sex, age, and other sociodemographic factors, all hazard ratios were in the range of 2.7 to about six. Precision was low in some strata owing to small numbers of homicidal deaths and person years. However, these findings suggest that people with mental disorders have increased vulnerability to homicidal death irrespective of sociodemographic characteristics. The association between any mental disorder and homicidal death was somewhat stronger among men (P for interaction=0.03), people with higher income (P for interaction=0.02), and people who lived in medium sized or small towns (P for interaction=0.01), but it did not vary significantly by other sociodemographic factors (P for interaction>0.05 for each; table $3 \parallel$).

A sensitivity analysis in which we examined the associations between mental disorders and either homicidal death or "death of undetermined intent" as a combined outcome yielded substantially higher risk estimates for each mental disorder (supplementary table), possibly owing to a high prevalence of suicide among deaths of undetermined intent.²⁸ ²⁹

Discussion

In this large cohort study, people with mental disorders had highly increased risks of homicidal death, irrespective of sex, age, or other sociodemographic characteristics. Although the risk of homicidal death was highest among those with substance use disorders, it was also increased among those with personality disorders, depression, anxiety disorders, or schizophrenia and did not seem to be explained by comorbid substance use. Sociodemographic risk factors included male sex, being unmarried, and low socioeconomic status. These findings overlap with previously reported risk factors for suicide and accidental death, ^{1 30-32} which we also confirmed in this population (submitted). They suggest that preventive interventions targeting common underlying risk factors may have greater potential to reduce violent death than do narrower outcome specific interventions. ^{32 33}

Comparison with other studies

To our knowledge, this is the first study to examine the link between mental disorders and homicidal death by using comprehensive sociodemographic and outpatient and inpatient data for a national population. The use of outpatient as well as inpatient diagnoses is important because it allows more complete ascertainment of all mental disorders, including milder cases (not admitted to hospital), enabling more reliable and generalisable risk estimates than hospital based studies. Adjustment for sociodemographic confounders is also critical because many such factors are highly associated with mental disorders and, independently, with risk of homicidal death. The largest previous studies of this topic include a Danish study of 72 208 psychiatric patients admitted to hospital during 1973-93 that reported increased risks of homicidal death (based on 181 deaths) among those with substance use disorders, personality disorders, affective or non-affective psychoses (men or women), and schizophrenia (men only), but not neurosis. 19 The overall increase in risk among people with mental disorders was about sixfold (adjusted for sex, age, and year of death), compared with an increase of approximately fourfold to fivefold in risk that we found after further adjusting for sociodemographic confounders unaccounted for in the Danish study. Another study of 135 992 psychiatric patients in Australia with one year of follow-up reported a nearly fivefold higher risk among people with any psychiatric treatment, based on 11 homicidal deaths compared with 53 in the general population. 20 Smaller US studies of 5284 psychiatric emergency room patients and 500 psychiatric outpatients reported increases of approximately twofold and fourfold in risk among people with mental disorders, on the basis of less than 10 homicidal deaths.^{21 22} These studies did not account for socioeconomic confounders, and sample sizes were insufficient to examine risks by specific mental disorders.

Possible explanations and implications

Comorbid substance use did not seem to fully explain the associations we found between mental disorders and homicidal death. Several other explanations are probably involved. People with mental disorders are more likely to live in high deprivation neighbourhoods, ¹⁴ which have higher homicide rates. They may be in closer contact with other mentally ill people and may be less aware of their safety risks owing to symptoms of the underlying illness. ^{15 34} A systematic review reported that people with virtually any mental disorder (especially schizophrenia but

also anxiety disorders and depression) are commonly perceived by the general public as unpredictable or dangerous. ¹⁶ Although some reactions towards mentally ill people are pro-social, feelings of uneasiness, fear, and a desire for social distance are common and may increase the risk of victimisation. ¹⁶⁻¹⁸ Interventions to reduce these risks should include collaborations between mental health clinics and the criminal justice system to develop personal safety and conflict management skills among people with mental illness. ³⁵⁻³⁶ Improved housing, financial stability, and substance abuse treatment may also reduce vulnerability to violent crime. ¹⁵⁻³⁴

The homicide rate in Sweden (1.1 per 100 000 person years) is similar to that of other western European countries³⁷; it is much lower than that of the United States (7.0 per 100 000 person years), ³⁸ where our findings are likely to have a larger public health impact. US studies of homicidal death among mentally ill people are scarce and much smaller. ²¹ ²² However, recent studies of non-fatal violence have reported that victimisation of people with severe mental illness is more than four times the incidence in the general US population and is a larger public health problem than perpetration of violence by mentally ill people. ¹⁷ ³⁴

Strengths and limitations

A major strength of this study was the ability to examine the link between mental disorders and homicidal death in the largest cohort to date by using comprehensive registry data for a national population. Mental disorders were ascertained by using outpatient as well as inpatient diagnoses from all healthcare settings nationwide, enabling more reliable estimates of risk than in studies limited to cases admitted to hospital or selected samples. The results were adjusted for broadly measured sociodemographic confounders, and we examined the potential modifying effect of comorbid substance use.

Limitations included the inability to examine mental disorders that were undiagnosed; the reported prevalence of mental disorders thus still probably underestimated the true prevalence. However, because Sweden has universal access to healthcare and we used all outpatient and inpatient diagnoses nationwide, ascertainment was probably much more complete than in previous studies. Substance use disorders also were ascertained by using nationwide outpatient and inpatient diagnoses, which may have underestimated their true prevalence and influence. Sociodemographic factors were measured only at the beginning of the study period, and residual confounding by such factors is possible. Despite the large size of this cohort, the precision of some risk estimates was limited owing to the relatively low homicide rate in Sweden. Associations between multiple psychiatric disorders and homicidal death were not examined owing to insufficient numbers of homicides among people with multiple diagnoses to allow meaningful risk estimates. Information on non-fatal assault was unavailable, so we examined only the most severe outcome of violent victimisation, which also occurs in many other forms. Psychiatric patients also have increased risks of violent death from suicide and accidents, which have been reported previously, 1-5 19-22 and which were not covered in this study. Finally, the extent to which our findings for homicidal death are generalisable to countries with different social contexts and healthcare systems is unclear, although they are broadly compatible to findings from much smaller studies in the US and Australia. 20-22

Conclusions

This large national cohort study found that people with mental disorders, including those with substance use disorders, personality disorders, depression, anxiety disorders, or schizophrenia, had greatly increased vulnerability to homicidal death. We found strong associations irrespective of sex, age, or other sociodemographic characteristics. Homicidal death shared risk factors in common with those previously found for suicide and accidental death. Interventions to reduce violent death among people with mental disorders should tackle risks of victimisation and homicidal death in addition to suicide and accidents.

Contributors: CC, KS, MAW, and JS were responsible for the study concept and design. JS obtained funding. KS and JS acquired the data. CC, KS, MAW, and JS analysed and interpreted the data. CC and JS did the statistical analysis. CC drafted the manuscript, and all authors revised it for important intellectual content. JS is the guarantor.

Funding: This study was supported by grants from the National Institute of Drug Abuse (R01DA030005), the Swedish Research Council, and ALF project grant, Lund, Sweden. The funding agencies had no role in the design and conduct of the study; in the collection, analysis, and interpretation of the data; or in the preparation, review, or approval of the manuscript. The researchers were independent of the funding agencies.

Competing interests: All authors have completed the Unified Competing Interest form at www.icmje.org/coi_disclosure.pdf (available on request from the corresponding author) and declare: support for the study by grants from the National Institute of Drug Abuse (R01DA030005), the Swedish Research Council, and ALF project grant, Lund, Sweden; no financial relationships with any organisations that might have an interest in the submitted work in the previous three years; and no other relationships or activities that could appear to have influenced the submitted work.

Ethical approval: This study was approved by the Regional Ethical Review Board of Lund University in Sweden.

Data sharing: No additional data available.

- Harris EC, Barraclough B. Suicide as an outcome for mental disorders: a meta-analysis. Br J Psychiatry 1997;170:205-28.
- 2 Holding TA, Barraclough BM. Psychiatric morbidity in a sample of accidents. Br J Psychiatry 1977;130:244-52.
- 3 Rorsman B, Hagnell O, Lanke J. Violent death and mental disorders in the Lundby study: accidents and suicides in a total population during a 25-year period. Neuropsychobiology
- 4 Black DW, Warrack G, Winokur G. The Iowa record-linkage study: I. Suicides and accidental deaths among psychiatric patients. Arch Gen Psychiatry 1985;42:71-5
- accidental deaths among psychiatric patients. Arch Gen Psychiatry 1985;42:71-5.
 Gau SS, Cheng AT. Mental illness and accidental death: case-control psychological autopsy study. Br J Psychiatry 2004;185:422-8.
- 6 Swinson N, Flynn SM, While D, Roscoe A, Kapur N, Appleby L, et al. Trends in rates of mental illness in homicide perpetrators. *Br J Psychiatry* 2011;198:485-9.
- 7 Fazel S, Gulati G, Linsell L, Geddes JR, Grann M. Schizophrenia and violence: systematic review and meta-analysis. PLoS Med 2009;6:e1000120.
- 8 Shaw J, Hunt IM, Flynn S, Meehan J, Robinson J, Bickley H, et al. Rates of mental disorder in people convicted of homicide: national clinical survey. Br J Psychiatry 2006;188:143-7.
- 9 Shaw J, Appleby L, Amos T, McDonnell R, Harris C, McCann K, et al. Mental disorder and clinical care in people convicted of homicide: national clinical survey. BMJ 1999:318:1240-4.
- 10 Taylor PJ, Gunn J. Homicides by people with mental illness: myth and reality. Br J Psychiatry 1999;174:9-14.
- 11 Asnis GM, Kaplan ML, Hundorfean G, Saeed W. Violence and homicidal behaviors in psychiatric disorders. *Psychiatr Clin North Am* 1997;20:405-25.
- Hiday VA. The social context of mental illness and violence. *J Health Soc Behav* 1995;36:122-37.
 Monahan J. "A terror to their neighbors": beliefs about mental disorder and violence in
- historical and cultural perspective. *Bull Am Acad Psychiatry Law* 1992;20:191-5.
- 14 Crump C, Sundquist K, Sundquist J, Winkleby MA. Neighborhood deprivation and psychiatric medication prescription: a Swedish national multilevel study. *Ann Epidemiol* 2011;21:231-7.
- Hiday VA, Swartz MS, Swanson JW, Borum R, Wagner HR. Criminal victimization of persons with severe mental illness. *Psychiatr Serv* 1999;50:62-8.
- Angermeyer MC, Dietrich S. Public beliefs about and attitudes towards people with mental illness: a review of population studies. *Acta Psychiatr Scand* 2006;113:163-79.
- 17 Choe JY, Teplin LA, Abram KM. Perpetration of violence, violent victimization, and severe mental illness: balancing public health concerns. *Psychiatr Serv* 2008;59:153-64.

What is already known on this topic

The perpetration of homicide by people with mental disorders has received much attention, but their risk of being victims of homicide has rarely been examined

No studies of this topic have examined mental disorders ascertained from all outpatient and inpatient settings in a national population Such information may facilitate more effective strategies for improving the safety and health of people with mental illness

What this study adds

This study used nationwide outpatient and inpatient data from Sweden and adjusted for sociodemographic confounders

People with mental disorders, including those with substance use disorders, personality disorders, depression, anxiety disorders, or schizophrenia, had greatly increased risks of homicidal death

Interventions to reduce violent death among people with mental disorders should tackle modifiable risk factors for victimisation and

- 18 Maniglio R. Severe mental illness and criminal victimization: a systematic review. Acta Psychiatr Scand 2009;119:180-91.
- 19 Hiroeh U, Appleby L, Mortensen PB, Dunn G. Death by homicide, suicide, and other unnatural causes in people with mental illness: a population-based study. *Lancet* 2001;358:2110-2.
- 20 Ruschena D, Mullen PE, Burgess P, Cordner SM, Barry-Walsh J, Drummer OH, et al. Sudden death in psychiatric patients. Br J Psychiatry 1998;172:331-6.
- 21 Hillard JR, Zung WW, Ramm D, Holland JM, Johnson M. Accidental and homicidal death in a psychiatric emergency room population. Hosp Community Psychiatry 1985;36:640-3.
- 22 Martin RL, Cloninger CR, Guze SB, Clayton PJ. Mortality in a follow-up of 500 psychiatric outpatients: II. Cause-specific mortality. Arch Gen Psychiatry 1985;42:58-66.
- 23 National Board of Health and Welfare. Causes of death 2010. National Board of Health and Welfare. 2011.
- 24 Ludvigsson JF, Andersson E, Ekbom A, Feychting M, Kim JL, Reuterwall C, et al. External review and validation of the Swedish national inpatient register. *BMC Public Health* 2011:11:450.
- 25 Crump C, Sundquist K, Sundquist J, Winkleby MA. Gestational age at birth and mortality in young adulthood. JAMA 2011;306:1233-40.
- 26 Crump C, Winkleby MA, Sundquist K, Sundquist J. Preterm birth and psychiatric medication prescription in young adulthood: a Swedish national cohort study. *Int J Epidemiol* 2010;39:1522-30.
- 27 Garrett JM. gr23: graphical assessment of the Cox model proportional hazards assumption. Stata Technical Bulletin 1997;35:9-14.
- 28 Varnik P, Sisask M, Varnik A, Arensman E, Van Audenhove C, van der Feltz-Cornelis CM, et al. Validity of suicide statistics in Europe in relation to undetermined deaths: developing the 2-20 benchmark. *Inj Prev* 2012;18:321-5.
- 29 Lindqvist P, Gustafsson L. Suicide classification—clues and their use: a study of 122 cases of suicide and undetermined manner of death. Forensic Sci Int 2002;128:136-40.
- 30 Harris EC, Barraclough B. Excess mortality of mental disorder. Br J Psychiatry 1998;173:11-53.

- 31 Neeleman J, Wessely S, Wadsworth M. Predictors of suicide, accidental death, and premature natural death in a general-population birth cohort. Lancet 1998;351:93-7.
- 32 Neeleman J. A continuum of premature death: meta-analysis of competing mortality in the psychosocially vulnerable. Int J Epidemiol 2001;30:154-62.
- 33 Knox KL, Litts DA, Talcott GW, Feig JC, Caine ED. Risk of suicide and related adverse outcomes after exposure to a suicide prevention programme in the US Air Force: cohort study. BMJ 2003;327:1376.
- 34 Teplin LA, McClelland GM, Abram KM, Weiner DA. Crime victimization in adults with severe mental illness: comparison with the National Crime Victimization Survey. Arch Gen Psychiatry 2005;62:911-21.
- 35 Lamb HR, Weinberger LE, DeCuir WJ Jr. The police and mental health. Psychiatr Serv 2002;53:1266-71.
- 36 Corrigan PW, Holmes EP. Patient identification of street skills for a psychosocial training module. Hosp Community Psychiatry 1994;45:273-6.
- 37 Stone DH, Jeffrey S, Dessypris N, Kyllekidis S, Chishti P, Papadopoulos FC, et al. Intentional injury mortality in the European Union: how many more lives could be saved? Inj Prev 2006;12:327-32.
- Papadopoulos FC, Skalkidou A, Sergentanis TN, Kyllekidis S, Ekselius L, Petridou ET. Preventing suicide and homicide in the United States: the potential benefit in human lives. Psychiatry Res 2009;169:154-8.

Accepted: 08 January 2013

Cite this as: BMJ 2013;346:f557

This is an open-access article distributed under the terms of the Creative Commons Attribution Non-commercial License, which permits use, distribution, and reproduction in any medium, provided the original work is properly cited, the use is non commercial and is otherwise in compliance with the license. See: http://creativecommons.org/licenses/by-nc/2.0/and http://creativecommons.org/licenses/by-nc/2.0/legalcode.

Tables

Table 1| Adjusted hazard ratios for associations between sociodemographic characteristics (2000-01) and homicidal death in Sweden (2001-08)

Characteristics	No of homicidal deaths	Person years (×100 000)	Rate*	Adjusted hazard ratio (95% CI)†
Total	615	543.5	1.13	_
Sex				
Women	205	276.7	0.74	Reference
Men	410	266.9	1.54	2.07 (1.74 to 2.45)
Age (years)				
17-24	89	54.4	1.64	0.96 (0.72 to 1.28)
25-34	107	97.7	1.09	Reference
35-44	133	99.2	1.34	1.53 (1.18 to 1.99)
45-54	137	93.1	1.47	2.05 (1.56 to 2.69)
55-64	70	86.5	0.81	1.13 (0.80 to 1.59)
65-74	37	56.6	0.65	0.53 (0.35 to 0.82)
≥75	42	56.0	0.75	1.74 (1.02 to 2.98)
Marital status				
Married/cohabiting	127	233.7	0.54	Reference
Never married	271	191.3	1.42	2.56 (2.01 to 3.26)
Divorced	110	58.5	1.88	3.04 (2.34 to 3.94)
Widowed	15	34.3	0.44	1.07 (0.60 to 1.90)
Unknown	92	25.8	3.57	Not estimable
Country of birth				
Sweden	433	453.3	0.96	Reference
Other Nordic countries	36	20.8	1.73	1.13 (0.79 to 1.62)
Non-Nordic countries	146	66.3	2.20	1.05 (0.81 to 1.35)
Unknown	0	3.2	0.00	Not estimable
Educational level (years)				
Compulsory high school or less (≤9)	154	101.5	1.52	1.66 (1.31 to 2.10)
Vocational or some college preparatory high school (10-11)	167	138.9	1.20	1.42 (1.14 to 1.78)
College preparatory high school and/or college (≥12)	174	224.2	0.78	Reference
Unknown	120	78.9	1.52	0.37 (0.21 to 0.65)
Employment status				
Employed	195	315.4	0.62	Reference
Non-employed	420	228.2	1.84	3.13 (2.53 to 3.86)
Income				
Highest quarter	66	132.8	0.50	Reference
Second quarter	96	131.8	0.73	1.34 (0.97 to 1.84)
Third quarter	136	127.6	1.07	1.70 (1.24 to 2.32)
Lowest quarter	225	125.6	1.79	2.43 (1.79 to 3.30)
Unknown	92	25.8	3.57	Not estimable
Urban/rural status				
Large cities	206	181.8	1.13	Reference
Medium sized towns	176	185.9	0.95	0.80 (0.65 to 0.98)
Small towns/rural	143	150.0	0.95	0.78 (0.63 to 0.98)
Unknown	90	25.8	3.48	0.28 (0.07 to 1.19)

^{*}Homicidal death rate per 100 000 person years.

[†]Risk estimates were adjusted for all other variables included in this table.

Table 2| Adjusted hazard ratios for associations between mental disorders and homicidal death in Sweden (2001-08)

Mental disorders (ICD-10	No of homicidal deaths	Person years (×100 000)		Hazard ratio (95% CI) adjusted for sex and age: total population	Hazard ratio (95% CI) adjusted for sex, age, and other sociodemographics†		
codes)			Rate*		Total population	No substance use‡	
Any mental disorder (F00-F69)	141	49.8	2.83	7.27 (5.98 to 8.83)	4.91 (3.99 to 6.03)	2.13 (1.52 to 2.99)	
Substance use disorders (F10-F19)	102	12.0	8.48	15.99 (12.85 to 19.91)	9.37 (7.39 to 11.88)	Not estimable	
Schizophrenia and schizotypal and delusional disorders (F20-F29)	9	4.2	2.13	3.31 (1.71 to 6.41)	1.33 (0.68 to 2.58)	1.26 (0.52 to 3.06)	
Schizophrenia (F20)	7	1.9	3.60	5.23 (2.48 to 11.04)	1.82 (0.85 to 3.86)	1.75 (0.65 to 4.73)	
Affective disorders (F30-F39)	28	18.6	1.51	3.35 (2.28 to 4.91)	2.38 (1.62 to 3.50)	2.45 (1.52 to 3.95)	
Depression (F32-F33)	25	16.3	1.54	3.47 (2.32 to 5.20)	2.55 (1.70 to 3.83)	2.61 (1.58 to 4.33)	
Neurotic, stress related, and somatoform disorders (F40-F48)	36	19.3	1.87	4.08 (2.90 to 5.75)	2.83 (2.00 to 4.00)	2.67 (1.71 to 4.17)	
Anxiety disorders (F40-F41)	17	11.5	1.48	3.30 (2.03 to 5.36)	2.16 (1.32 to 3.52)	2.51 (1.37 to 4.59)	
Personality disorders (F60-F61)	10	2.5	3.98	7.07 (3.77 to 13.24)	3.21 (1.70 to 6.06)	4.58 (1.46 to 14.38)	

ICD-10=international classification of diseases, 10th revision.

^{*}Homicidal death rate per 100 000 person years.

[†]Other sociodemographic variables included marital status, country of birth, education, and employment status.

[‡]Excluding people with any outpatient or inpatient diagnosis of substance use disorders (n=160 762; 2.2%).

Table 3| Adjusted hazard ratios for association between any mental disorder and homicidal death in Sweden (2001-08), stratified by sociodemographic characteristics

		Any mental disorder	Adjusted for sex, age, and other sociodemographics*		
Characteristics	No of homicidal deaths	Person years (×100 000)	Rate†	Adjusted hazard ratio (95% CI)	P for interaction:
Sex:		,		• ,	
Women	37	27.4	1.35	4.26 (2.92 to 6.22)	0.03
Men	104	22.4	4.65	5.08 (3.96 to 6.50)	
Age (years):					
17-24	20	4.8	4.16	5.59 (3.30 to 9.48)	0.24
25-34	24	7.7	3.13	4.86 (2.93 to 8.05)	
35-44	31	8.8	3.53	3.22 (2.07 to 5.01)	
45-54	40	8.3	4.81	4.79 (3.17 to 7.23)	
55-64	15	6.7	2.23	4.64 (2.51 to 8.56)	
65-74	6	5.1	1.18	4.63 (1.88 to 11.39)	
≥75	5	8.4	0.60	2.71 (1.04 to 7.02)	
Marital status:					
Married/ cohabiting	19	17.0	1.12	3.79 (2.29 to 6.25)	0.06
Never married	73	19.0	3.85	3.85 (2.89 to 5.14)	
Divorced	36	8.2	4.39	4.34 (2.84 to 6.65)	
Widowed	1	4.7	0.21	1.18 (0.15 to 9.09)	
Country of birth:					
Sweden	108	41.6	2.60	4.88 (3.86 to 6.18)	0.88
Other Nordic countries	10	2.2	4.62	6.12 (2.67 to 14.01)	
Non-Nordic countries	23	6.1	3.80	3.19 (2.00 to 5.11)	
Educational level (years):					
Compulsory high school or less (≤9)	55	11.1	4.93	4.22 (2.96 to 6.02)	0.11
Vocational or some college preparatory high school (10-11)	42	13.4	3.14	3.41 (2.45 to 4.97)	
College preparatory high school and/or college (≥12)	27	16.1	1.68	3.84 (2.51 to 5.89)	
Unknown	17	9.2	1.85	6.01 (3.51 to 10.28)	
Employment status:					
Employed	28	19.7	1.42	4.36 (2.90 to 6.57)	0.57
Non-employed	113	30.1	3.75	4.72 (3.72 to 5.99)	
ncome:					
Highest quarter	14	8.2	1.71	6.23 (3.36 to 11.56)	0.02
Second quarter	19	11.3	1.68	3.56 (2.09 to 6.06)	
Third quarter	40	14.4	2.77	4.27 (2.86 to 6.38)	
Lowest quarter	56	14.9	3.75	3.62 (2.63 to 4.98)	
Jrban/rural status:					
Large cities	47	19.2	2.45	3.40 (2.41 to 4.80)	0.01
Medium sized towns	46	16.8	2.74	4.31 (3.00 to 6.18)	
Small towns/rural	36	12.9	2.79	4.74 (3.17 to 7.11)	

 $^{{}^{\}star} O ther \ sociodemographic \ variables \ included \ marital \ status, \ country \ of \ birth, \ education, \ and \ employment \ status.$

[†]Homicidal death rate per 100 000 person years.

 $^{{\}ddagger} Like lihood\ ratio\ test\ for\ interaction\ between\ any\ mental\ disorder\ and\ respective\ variable\ with\ respect\ to\ homicidal\ death.$